NAME ____________________________________  GRADED:  VOCABULARY DEVELOPMENT,

 







           ALCOHOLS AND GRAPHS.

PRACTICE:  Take the time to integrate our work on organic chemistry and the current work on nerve transmission, and alcohols.  This worksheet is designed to have you USE your notes so, USE THEM!!  Try to circle key vocabulary terms and to re-define them.   This will be collected tomorrow (Friday 16 May 2014) 

___1)  Based upon the definition, which of the following pairs represent alcohols?

          1)                                                                                      3)

        2)                                                                                         4)

___2)  Which of the following represents the molecular formula for propanol?


1)  CH3OH

2)  C5H11OH

3)  C3H7OH            4)  C8H17OH
3)  The formulas on page 67 of your notes are examples of structural formulas.  Draw the structural formula 

      of the organic molecule, propanol, from question 2).
       (Be sure every Carbon has 4 covalent bonds.  The OH group, can,
        technically go on any one of the 3 carbons. If we wanted the OH group
        on a specific carbon atom, the name would have a number in it, 
        like 2-propanol, meaning the OH group must be on the second C)


3a)  What is the type of bonding found in the


       organic molecule of propanol?    choose one:    i)  ionic bonding     or  ii)  covalent bonding


3b)  _________  bonds        How many bonds should be represented in the correct structural formula for

                                                         a molecule of propanol?  (Did you remember, to count the bond between the

 



         oxygen and hydrogen of the OH group?)


3c)  Defend the statement:  A teacher wrote a worksheet an kept referring to propanol as an

                                                         organic molecule.  



Why is it organic?  ________________________________________________________



Why is it a molecule?  _______________________________________________________
___4)  Which of the following sets of terms can be used to describe an alcohol, such as ethanol (C2H5OH)?


1)  organic,  ionic bonds,  molecular compound

2)  inorganic,  covalent bonds,  ionic compound

3)  organic,    covalent bonds,  molecular compound

4)  inorganic,  ionic bonds,  molecular compound
5)  Write the structural formula for 2-hexanol (C6H13OH)
        (Be sure every Carbon has 4 covalent bonds.  The OH group must be placed

         on the 2nd Carbon atom … because the name specifies the placement of the

         group)
___6)  Which of the following is also known as grain alcohol?


1)  methanol

2)  ethanol
        3) cetyl alcohol
       4)  octanol  

___7)  Your shampoo contains cetyl alchohol.  How many carbon atoms are in one molecule of cetyl alcohol?


For questions  8 – 11, use the following structural formula, and your grasp of the

vocabulary terms used in the course.   Your defenses do NOT need to be in full

sentences … But, provide a defense which signifies your level of mastery of the

boldfaced term, and analysis of the diagram.

8)  Can the structural formula be described as a compound?

      Yes  /  No     Why?  ____________________________________________
9)  Can the structural formula represent a chemical that can be described as organic?

      Yes  /  No     Why?  ____________________________________________
10)  Can the structural formula represent a chemical that can be described as molecular?

      Yes  /  No     Why?  ____________________________________________
11) Can the structural formula represent a chemical that can be described as an alcohol?

      Yes  /  No     Why?  ____________________________________________
For questions 12 -13 use the following graph.   

The curve represents the maximum number of grams of potassium chloride (KCl) that can be dissolved in 100 grams of water, at different temperatures from 0° C to 100°C 
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12)  How many grams of KCl can be dissolved in 100 grams of water, at 10°C?    about: ____________ grams

13)  How many grams of KCl can be dissolved in 100 grams of water, at 70°C?    about: ____________ grams

14)  Make an inference about the solubility of  KCl, in water, as the temperature increases:  


The ability for KCl to dissolve in water, ______________________ as temperature increases because,


based upon the graph’s information ________________________________________________

________________________________________________________________________________
15)  What is the maximum number of grams of KCl that can be dissolved into 300 grams of water, at 10°C?    
        about: ______________ grams   
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